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Identify the function f{x)...
i) f(x)=Sinx
1i) f(x}=€aslx
i) f(x)=Tanz

iv) f({x)=Cosec x
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Using the function f(x) find :
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If  the of
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(x2+-;) has a ferm

independent of x, then which
of the following can be the
value of n?
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i) f(x)=Sinx

ii) f(x)=Cosx

iil) f{x}=Tanx

iv) f{x)=Cosec x

by fFix) amm anedesdh

gole@oilel

Lim ”")“‘{%}

AT
Ko——

2

gl ef ole
2

B,

1Y
7. a) (x2+;J o flageflansm

ofledd SaldminiGo BT
1Y
b) (xz + ;J ey tflapelsesm

amlad X smgoEn cisomsrasldd
apues aeosyrmidesmmoseie
n-a@ alle epeocymal

aq@oam?

bstion ’?pa]f?ers, @ a8
r esoutt®Es . ) 13

nt map.in

(1)

2)

2) .

(1)


https://studentmap.in/

S'I'IIIIEIﬁMAP


https://studentmap.in/

Get the | atest Question papers,
Not es and study resources.
Visit studentmap.in


https://studentmap.in/

-
STUDENY e | Gl
14. &) Writs the contrapositive of g i, & movialseunm  efugmadind
the given sigtemasns. b seserbigsanicrigiol Hydoad
" @ murmber ia divigible by 9 i AL,
then it i divisible by 8", | *If 2 number is divisible by
by Verify by the method of f §, then it is divisibls by 8. (1)
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